202495 =4 3 3 LBt|H QIR
A QD
M HY2AZY(LI2D
o2t J|=3H| (crel: M)
SA - HB . CR(BH) - MRAY - BHES Ofl kol J| & o HlmE2
QIR 2,139,383 2,262,738 A123,355
= 343,869 343,869 0
o= 13,708 16,808 A3, 100
= 1,781,806 1,902,061 A120,255
HY2AHY|(212 ) 40,140 45,140 /5,000
Jle=3dl 40,140 45,140 5,000
JlE2&sl 40,140 45,140 25,000
201 et | 27,180 32,180 25,000
02 Z323H| 5,000 10,000 25,000
ORERZ 5,000,000 5,000 10,000 /5,000
NEA RIAMEIA M3 410,078 414,758 A4,680
= 37,278 37,278 0
i 372,800 377,480 A4,680
HIFHOI BIAXME 24 328,570 331,450 A2,880
= 10,000 10,000 0
= 318,570 321,450 A2,880
QIR MEIA M3 273,638 276,518 A2,880
202 o8| 4,320 7,200 A2,880
01 2LHO4HI 4,320 7,200 A2,880
ORIAHHAR T
120,000 %301 122 4,320 7,200 A2,880
HIFJOI QIR NS 54,230 56,030 1,800
ML 2R F& 54,230 56,030 1,800
202 (48| 16,200 18,000 /1,800
01 =LHOIHI 16,200 18,000 /1,800
OMgsiot & ZRF
70,0002 %501x 12 4,200 6,000 21,800
=8 A4 2 2F 40,265 45,025 A4,760
AFDRIMHIA HE 40,265 45,025 A4,760
WA= ASCIRA MEIAKS 40,265 45,025 A4,760
201 et | 24,065 27,025 A2,960
02 3323l 0 2,960 A2,960
OAR0A 2 2ERZ 0 2,960 A2,960
oglet 0 0 430 A430
0371 o 0 2,530 A2,530
202 (44| 16,200 18,000 1,800
01 2LHO4HI 16,200 18,000 1,800
OAES2 SEXZAN RFX
70,0002 %501 122 4,200 6,000 21,800
EXNEENE 22| 1,643,590 1,752,385 A108,795
= 306,591 306,591 0
& 13,708 16,808 A3,100
= 1,323,291 1,428,986 105,695
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=K ol
Do EXF2NE 22

s dl2lgts XIFBIJANEIA X (CHl: X 21)
S - Z8 - H(3H) - MRAY - BES Ofl &2 J 3o Hws2
AlZlg= XIFQIRAMEIA K& 246,852 271,71 A\24,859
L= 3,500 6,600 A3, 100
= 243,352 265,111 N21,759
&I 2 XNESEFL 238,026 255,211 A17,185
201 LEt2H| 196,877 211,901 15,024
01 At22teld| 196,877 211,901 15,024
Oget===H| 185,227 200,251 15,024
0ZAHEHl & =2
500,000 &*x2Z K| 1,000 5,000 24,000
0SSV IEE SEXZA =22 144,812 152,436 AT ,624
o KN&EEZ2HE 11,8502%6,630H 78,566 86,190 AT ,624
OHEEEE MBS 7Y 5,720 9,120 A3,400
oA3 340,000 340 300 40
oA 22,000 408 A 880 1,320 2440
oIZele ElY 500,000 *3CH*33] 4,500 7,500 A3,000
202 044l 11,200 13,200 A2,000
01 2UH0dHI 11,200 13,200 A2,000
OXI=pIRAD 454 7,600,000 7,600 9,600 2,000
207 AN 29,949 30,110 161
01 A=<l 29,949 30,110 A161
OXNESMSEHCIAAE HHIOIE 19,749 19,910 A161
(HEZSHE MAG] 499,000& 499 660 2161
MASXIH 3t 2 8,826 16,500 AT,674
= 3,500 6,600 A3,100
= 5,326 9,900 A4, 574
201 et 3| 8,826 16,500 NT,674
= 3,500 6,600 23,100
= 5,326 9,900 A4,574
01 AtR2eld] 8,826 16,500 AT ,674
OXHIIEE Xl =8 8,826,000 8,826 16,500 N7 ,674
= 3,500 6,600 A3,100
= 5,326 9,900 A4, 574
SUHEE 2e| 637,863 721,799 83,936
== 10,208 10,208 0
= 627,655 711,591 83,936
E2Y A2 389,705 443,791 Ab4,086
201 LEt2Z| 100,627 128,500 N27,873
01 AtR2teld| 99, 187 127,060 N27,873
Oget===H| 51,027 78,900 27,873
HAMARE A AIRES P2
669,000 669 1,500 A831
0ADIEIIOIA S&D| Wi
1,080,000 *2CH 2,160 2,400 A240
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A BIAD
M EXZEXNZ 22l
el S2AHEE 2l (EERSED)
SN - FHH - AA(BH) - MRAR - BAS Oil &R JE A HIwS2Z
ESDEEREIN 81,0002 *54% 4,374 4,860 NA86
0HEHS T UHIZTA 02l 0 22,500 222,500
ODFSCHAXIE M 2 AX]
41,184,000& 41,184 45,000 /3,816
202 Oid| 6,800 10,800 24,000
01 2LH0H| 6,800 10,800 4,000
O32t88 g2+ 3,200,000 3,200 7,200 24,000
207 AN 10,800 12,000 A1,200
01 A= 10,800 12,000 A1,200
OXYEEH| ==Y 10,800,000 % 14! 10,800 12,000 A1,200
401 AlEHIL 2 CHYI 188,987 210,000 A21,013
01 AI&HI 188,987 210,000 A21,013
OHEHSTE 4] 113,848 138,000 A24,152
ASHSE A M 9,000=1%3307H 2,970 8,000 25,030
0= HEHST WAl &yl
110,878,000 110,878 130,000 A19,122
OF2HAIEE &X 75,139 72,000 3,139
0=2Fet =5 2 FH| &X
75,139,000 75,139 72,000 3,139
UNEIINE=E=FSfase)] 187,440 213,000 A25,560
207 AN 187,440 213,000 225,560
02 HEDHEY| 187,440 213,000 225,560
OE=Z 2 XGHAIEZ 1B A
187,440,000 % 1 Al 187,440 213,000 A25,560
SPSAMEESREAIAE(KRAS)2Y 50,510 54,800 N4,290
201 B3| 30,710 32,800 /2,090
01 AtR2teld| 30,710 32,800 /2,090
PEUSESRAIAE RN E+ 18,327 19,515 1,188
00Z Xstudio(S/W) 495,000 14l 495 550 AB5
0GeoNur is(S/W) 8,316,000 1Al 8,316 9,240 NO24
0CubeOne(S/W) 1,877,000 14! 1,877 2,086 A209
O=tE2UEESSHAAH SN2+ 12,383 13,285 2902
0GeoGate(S/W) 5,513,000 *1 Al 5,513 6,125 2612
0JEUS Enterprise 6.0(S/W) 2,610,000&*14] 2,610 2,900 A290
405 XHoHESH| 19,800 22,000 A2,200
01 AL EZF=HI 19,800 22,000 A2,200
ODBMS(Oracle standard) -
19,800,000 *1A! 19,800 22,000 A2,200
Hees(212) 510 630 A120
SIS 510 630 A120
2x3 gtE2 510 630 A120
802 Btet=JIEt 510 630 A120
01 2 NEXZetEZ2 400 520 A120
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